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from sympy import *

def Lagrange() :
#WEARE

= symbols ("r”)

symbols ("h”)

= symbols ("lamda”)

T
h
1

# G R R H 4
L=f-1=% g

# 3RT, MiE KKT %4

difyL r = diff(L, r) # WLErkS
difyL h = diff(L, h) # XL EhkS
difyL 1 = diff(L, 1) # %} 1RS

# SKff KKT 253X
aa = solve([difyL r, difyL h, difyL 1], [r, h, 1])

aa = aal0]
r = aal0]
h = aall]

print ("r BHUEN:", 1)
print ("h FIEUE A, h)
print "M N: 7, 2k pi *r * h + 2 % pi * r #k 2)

if name == main ’:

symbols ("r”)

= symbols ("h”)

= symbols (”lamda”)
=2%pl*xrkh+2%pi*xrkk2
=r*k2%xh-4/3

Lagrange ()
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